Today's assignment:

Identities Additional Practice #1-33
(due Friday, 10 points)

Complete as much as possible
before the group quiz tomorrow so
you are prepared for the assessment!!
o‘f-q'?




Ch.7 Identities Review shbw WofF l.

1)  Solvethe following forx, in terms of &, where 0=x<360"

sinx-2smxcosx=0

L actor
Sinx (\——’LC‘oéY> =0
/ Y

- SINXZ=D |- 2cosx =0

use umt _72¢cosyx= - |

Cwele 4o - -4
\L —

solve i\ CoS -2
Sy =0 CoS¥-=

X= O X CHECK ANSWERS #1.9
LN 550 0 0 0 30 45 60 60 60 90 120

120 120 135 130 210 240 240
270 300 300 300 300 315 330

No Calculater
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1)  Solve the following for x, in terms of x, where 005 x<2360° B 2
E DS Z9)~ ;Cos B5-|
S Aoshtute

Sinx-2sSmxcosx

2)  Find all values o™ in the interval 0° = 8 <360° that satisfy

-L-. - . ~ DO -
the equation cos 28)- Cos 8§ = u.

e
ACost B — | —C0s0 =0 S dcod D —cosb - 120
<2C069 4")(@59 - =0
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Ch. 7 Identities Review SM.N w"-v.l'

1)  Solve the following ﬁrx,int:nmofz,nh:mﬂﬂix-c.aw’ 19) 'I'hemmhnmzﬂ+csczﬂhequhuhﬂm

g 1

A) sin® 8 cos® 0 5 ————
sin? © cos? 0

B) 1-tan® @ D) 1+tan® 8
The expression cos 70° cos 10° +sin 70° sin 10% is
equivalent to '
A) sin 60° C) sin 80°
B) cos 60" DY) cos 80°
The expression sin 50° cos 40° +cos 50° sin 40° is
equivalent to
A} cos 10° C) sin 90°
B} cos%° D} sin 10°
Given 2 tan x + 2,3 =0, solve for x, to the nearest degree, in Since sin 75° = sin (30° +457), then sin 75° equals
the interval 0 < x < 360. A) V6 -2 C}- S2+6
What are all values of 8 in the interval 0° = 8 < 360° that 4 4

sinx-2sinxcosx=0
Find all values of 8 in the interval 0° = & <360° that satisfy
the equation cos 26 -cos 6 =0,
Find all values of 8 in the interval 0° = & <360 that satis fy
the equation sin 26 +cos & =0,
If ¢ is a positive acute angle, solve 6 tan x - 2/3=0to the
nearest degree.
Hxixnpmﬂimmtan@l&.snhre4sin:-lﬁ=ﬂtnﬂm
nearest degree.

Given 2 tan x + 2 =10, solve for x, to the nearest degree, in the
interval 0 = x < 360,

-b+2

p
3’
d.
-
z

satisfy the equation 2cos” B-3cos 0 +1=07
Find, to the nearest degree, the solution set of
4 cos? x- 1 =0in the interval between 0° and 360°.
E:q:msscmia+shzﬂ+unlﬂastahghtﬁgomnﬁﬁu
funetion.
cos” B i ; ;
Esxpress ————— as a single trigonometric function.
1-cos? o
Express csc 8 - cot 8 cos 9 as a single trigonometric
function.

Transform cos 6 csc 8 tan 8 - sin” 8 into an equivalent

expression in terms of the trigonometric function cos 8.

26
D=3 =3
The expression tan (180" - ) is equivalent to

-tan y
1 +tan
i-tany
1 +tan
The expression sec x sin 2v is equivalent to

A) dany @)

B) -1 ' D)

The expression —— s
2cos A

1+cos 2x
Th fon > "2
e.mupms n Siﬂh:

is equivalent to

is equivalent to




Simplify:tan? 8 cos? 8 +cos? B The expression cos 2A - cos® A is equivalent to

_— ;
Iftan A =2 and tan B=, what i the value of tan (A -+ B)? REZ. 05 2w ot st e ) A O 1

what is the value of sin (A + B)?
sec B
—_— iv
Theammshntmﬂhuqu alent to
A) csc@ C) smo
B) cos @ D) secH

The expression sin 8 (cot - csc 8) is equivalent to ) )
A) -sin & C) cose-1 Find the value oftan 2A iftan A =-/6.

Ifsi:uA=%,ﬁrdm2A.

Ifcos B=—%.ﬁ:d cos 20 and express in simplest form.

B) cos @ -sin’ 8 D) 2cos B IfAk-npusi:ivemnennghmdmsﬁ=§,fmdtlmvaluanf

Forall values of @ for which the expression is defined, E sn
2

is equivalent to q

A) cote C) cos @ Ifh'nnpnsiivenmt:mlg)hmdmsﬂ-gfmdﬁEVahEnf

B) sin® D) tan® A

COS —.

T s
0 003045 60 60 60 90 120 | sin® 2sinx -sin”A cos’0 _ #16-23
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Check answers (blue sheet

16. A 19. C
17 C 20. B
18. D 21. C
22. C
23. A



GROUP QUIZ: tomorrow!

- No calculator, no notes!

- Only the following identities will be
provided on the test:
sunvdifference, double angle, half angle

Gz



Prepare for upcoming quiz/test

*Quiz yourself: practice identities, unit circle.
*No notes and no calculator for quiz & test.
*Use handout #1-13 as a guide to study

for the quiz and test (same format, questions
will be in a different order.)

*Be ready to also simplify, factor, i
substitute, verify, solve for , etc... G52




|dentities Practice s//CH ECK ANSWERS

Name the function that best completes each
statement.

' 1 N>
Quotient Identities: M oY
1. cotd= Cost i
simné KVQ - \
. O\U/\)Y\)Y 125
2. tan@ = siné \

cost



Reciprocal identities:

3.
4,
.

Pythagorean identities:

9.

t0= _1
Bl = cost
o) —
gaed siné

sin?@ + cos20 = 1

|
g =
6. sin o )
1
tan @ =
f cotd
 cosf = :
sec ¢
W\be"“’
)\\/\ﬁ@»



#10-11: Derive the other two Pythagorean
1dentities using the information in #9. Clearly
show all steps.

\ gmp\i(ﬁ)
10. %ﬁ + cos20 =1 - 1+cot? = csc2l
> S 29' SiﬂLB Si‘“le
Awidd |
|
11. sin?@ + cos?70 =1 - tan20+1 = sec20

&\V'ic)\b






13. Define each function in
terms of x and y (based on
the unit circle withr =1.)

|

sin 6 = csc @ =—
Y y

|

cos =X sec @ =—
X
tan@:l CO'[@Ii
X Y




